WORKSHEET 9’

Ex. 3.3’
Homework / Devoirs :
a) Learn irregular verbs 30 to 35 on your list and all the new vocabulary.

Apprends les verbes irréguliers 30 a 35 sur ta liste ainsi que tout le nouveau
vocabulaire.

b) Read pages 12 and 13 and circle the correct answers to these questions.
Lis les pages 12 et 13 et entoure les bonnes réponses a ces questions.

1. Who, in Charlie’s opinion, maybe received his father's money ?
- His grandmother.
- An old girlfriend of his father’s.
- His father’s doctor.
2. Why does Dr Bruner think Charlie is upset ?
- Because he is poor.
- Because his father is dead.
- Because his father never showed him any love.
3. Dr Bruner says that three people are fighters. Who are they ?
- Raymond, Sanford Babbitt and Susanna.
- Raymond, Dr Bruner and Charlie.
- Dr Bruner, Sanford Babbitt and Charlie.
4. What change does Raymond notice on the car ?
- The colour of the paint.
- There is no roof.
- The colour of the seats.
5. Why is Charlie shocked when Raymond says ‘it cost an arm and a leg’ ?
- Because his mother used that expression.
- Because Dr Bruner used that expression.

- Because his father used that expression.
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